Subject: Re: problems with VELOVECT
Posted by James Kuyper on Tue, 21 Aug 2001 16:34:.09 GMT

View Forum Message <> Reply to Message

Lasse Clausen wrote:

> if n_elements(missing) le O then missing = 1.0e30
>

> isn't IDL type-sensitive?

No.

if n_elements(missing) gt O then begin

good = where(mag It missing)

if keyword_set(dots) then bad = where(mag ge missing, nbad)
endif else begin

good = lindgen(n_elements(mag))
endelse

Strange! this if-block is totally unessesary, i believe how can
'missing' not be greater than 07? if it's not set (or set to a negative
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It is 'n_elements(missing)' that is being compared with 0, not 'missing'
itself.
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